[[C5) T 3E:E 20174 7H
=88 FIEEH(A

) 3K BEERE

100
90
80 -
70 -
60 -
50 -
40 -
30 -
20 -
10 -
0 -

80.8

A FREH /&

14
1.2
1.0
0.8
0.6
0.4
0.2
0.0

1.2

0.0

MRATAT~ AMRER
B

w_ MAEHES

o THRFTET~ AME R

-1/1-



[CS)Fa & (FRE) 20174 7H

=8 FIAE (A

& FraEl 139

7 4B 58 = T 7 ) 3SR BEZEME

75 33 & 0 AT 41

HET 218 100
76 88 /\ B AT 51 90
76 98 i+ B AT 41 80
RIEE+ & 73 70
AHT &+ Uy 40 60
BEtEE-TH 36 50
FINE 95 40
M ET 29 30
EMATT 18 20
gﬂﬂmi 25 10 HREN T
OIX Y 77T 53 0 '
AR T 41 83.3
AfRA7E &2 T —HiI 4
G S ET 7
W/ F 12
W/ T EME B AT 16 (N) *']Fﬁ%&/ﬁ
KRILKE 10 0.7
JtZEET 27 0.6
MmE—TH 19 0.6
BILET—T B 12 05 b
HILBT=TH 9 04 0.4
e Jm e Al 137 A
0.3
0.2
0.1
0.0
&R~ W/ T L/ T EME B AT~ RS RBT AT
FIREHEE
20%
80%

MR~ W/ T
L/ T ERE B i ~ B i B Al

-1/1-



